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Section 1—Markscheme to Individuals and Societies Source Analysis

a. Award up to 1 mark for each of the following FFIEIERIEZ %15 1 7 [3]:

Clarity and coherence (i.e. is the answer structured and delivered clearly?) ;&M
EMEEM (BREFFWEETNEE?)

Possible answers include (but are not limited to) FIAEZEBIE (BEREER) :

1. The SC can issue legally binding resolutions on Member States ZI2 & A][a]

R B B h R RAR S BRE

2. The SC can authorise military operations and deploy UN Peacekeepers &2

DA REESITENEE EF AR

3. The GA rarely takes direct action and mainly makes recommendations B#A

BERIENTER  RUKNERZETE
Reasoning (i.e. does answer follow a clear line of logic?) s (BEXETEREE

MrRYEERAR)

b. Award up to 1 mark for each of the following FAIEBIERIEZ %15 1 7 [3]:

Clarity and coherence (i.e. is the answer structured and delivered clearly?) ;5
EEEH (BEREEEMBENEIE?)
Possible answers include (but are not limited to) FIAEZEEIE (BEREER) :

1. A minority of Member States in the SC hold the majority of power (i.e. the SC
has more authority and power than the GA, but only comprise of 15 Member

States as opposed to the GA's 193) ZIEZ /DAL EBIEE S8 SN (&L
BEERE 15 ERER - {BEEE 193 BN BN KEB#E )

2. The GA can gather up to 193 Member States at a time; the sheer number of

interests that need to be represented can prove to be problematic for
deliberative and policymaking efficiency B ARIERFEE 193 EMER ; H
HENEZZ » FIREER 2B R TIRRIIREER

Reasoning (i.e. does to answer follow a clear line of logic?) &zs (BEER=EERE

IBMTAYEEEAR)

£1H (K7H)



c. Deduct up to 1 point for going over the word/sentence limit Bi8%F / GJEFRH] 22

EEZH1 D
2. [6]

a. Award up to 2 mark for clarity and coherence (i.e. is the answer structured and
delivered clearly?) EMIEMNEE M (BERXE2RBEMBABNEER?) IEZEF2D

b. Award up to 2 marks for source use (to obtain the full 2 marks, answers must make
direct reference to both sources; in-text citations are acceptable) ERMER R E Z 1S
27 (525 ERVWREREEMHEN ; IEZANSE)

c. Award up to 2 marks for reasoning (i.e. does to answer follow a clear line of logic
AND fit within the context of the question + sources?) 2RI E %15 2 15 (BESE
BIREMAEER B HEBBENERNER?)

d. Deduct up to 2 points for going over the word/sentence limit (only deduct 2 points if
the answer is 7 or more sentences long) #Bi8=F / G#RHFESZIN 2 5 (BEZE
ERYZR 79102 9)

e. Sample 6 point response 6 %3 &34

“Permanent membership in the SC has remained at the centre of UN policy
discourse for the past few decades. Concern regarding the monopoly of power
and influence wielded by the P5 is widespread among the majority of Member
States. It is important to recognise that the SC arguably has more decision-making
and deliberative power than any other UN organ due to its ability to issue legally
binding resolutions on Member States, as well as the P5’s veto powers (Source A).
Therefore, the SC and, by extension, the P5 have more say on international issues
than their peers, despite belonging to a minority in the UN (Source B) (Source A).
In conclusion, the P5 have too much influence over the UN, which perhaps
indicates a wider systemic power imbalance in the organisation as a whole.”

MEREX+TEH > REG FEEEEE) 88 —02mNSEESERRZ
DERE - FLRST - RSB EBEERBEOENNRZENRAEEEEEHEE
i - ARZEEEHEEMBERAERERNORNNRE > BAEEEESENEER
> RESLEMEMBSEMENAER EARARENERE (B A) - Flit -
FERHEEBEHSEPERIE LNOEK > ERESNAEEIEEEEERZER
R ERALEMREREEXR (B B) (B A) - @BME< ELEZEEIES
BEHEHEENTERAN » BROEASFERRIEEDKRENER - 1

3. Award up to 8 marks according to the following rubric 13§ F3IzED MBI Z 2158 8 9
[8]:
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7-8 — The response is focused; Clear references are made to the sources, and these
references are used effectively as evidence to support the analysis; Accurate and relevant
own knowledge is demonstrated. There is effective synthesis of own knowledge and
source material.

BERER ; REEGEN » BZEEAY Ao RmZERBEREEANE - 15
BRA S E ARG E R o

4-6 — The response is generally focused; References are made to the sources, and these
references are used as evidence to support the analysis; Where own knowledge is
demonstrated, this lacks relevance or accuracy. There is little or no attempt to synthesise
own knowledge and source material.

BEBERER ; REGEN > BZEGAND T REARNBESAOREEAGBE - 18
EalEA Rt S EA MBI E R -

1-3 — The response lacks focus; References to the sources are made, but references only
consist of descriptions of the content of the sources; No own knowledge is demonstrated
or, where it is demonstrated, it is inaccurate or irrelevant.

BERZER ; AEGER  BEGERENATIEL ; RERTEANG - UERFER
IS A AERERVE A RN -

BIERET R RS ST

Solutions to Mathematics and Science Source Analysis

Question 1
RiRE 1

1. No.2,3,4,5 &6
BRMRETR2-3-4-56

2. (1) the concentration of solution A
ABRIVRE
(2) reaction time
I FE R
(8) the concentration of solution B, total volume of solution, temperature, pressure,
etc.

BARIVRE  ARAEESTE  BE - B.....

3. Concentration is directly proportional to reaction rate.

LUREH R BRSREME - PI3RREEA » AR RIERSE®E -
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e ey . .
/| B§FE (s) R EREREEZE reaction rate concentraion vs reaction rate
| 120 0.06
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[ ]
| a0 0.02
PY [ ]
°
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L concentration

4. This experiment aims to investigate the relationship between temperature and reaction
time. The higher the temperature, the faster the rate of reaction; therefore, t>30
seconds.

BRI RE B R BIRRAR (R - BRAIAIEEEE - FIRNREREEE » Ht>30% -

Question 2
RARE 2

1. X=column E + (column B X column C X column D), X is density
X=Et#+(BifxCHixDiR) - XAHEE

2. As each substance has its own density, there are at least five materials inside the
box.

EVERSEME  BASHSEREBENYE -

3. Volume and density are inversely proportional when mass is fixed.
EESEEEN - BEMBERKRLE -

4. Density determines whether an object will float or sink in water. An object will
sink if its density is higher than water, and an object will float if its density is lower

than water.
MBI EBERR - BEANRKEINAKBOLE)  BE/NWKEZFH/KE(EESE) « BE

A1 EBEKPNERME -
5. (there can be alternative solutions)
(FIBE B R[EHR)
1st layer: soda drink & butterfly pea drink (pinkish purple)
F—E  EEHETIEARRAR)
2nd layer: butterfly pea drink (blue)
EBIE IRTIEARER)

3rd layer: orange juice (yellow)
E=FE - e (ES)
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4th layer: fructose (colorless)
EIfE : RiE(RE)

5th layer: tapioca ball (brown)
SAfE : BIR(MLEE)

Question 3
GifEK

2 2
1.4/2 +4/2 =22 [m1]

the hypotenuse of the first right-angled triangle is 2 [A2]
F—EEA=ATNRNEERS 2

2. 2241/2 =1/6 (M3

the hypotenuse of this second right-angled triangle is \/6 [A2]
B EEA=ATNMNEEES/6
3.

Case |l AE—

V2 442 =22 (M1l
24V2SVE

VO +v2 =8 [u

V8 V2 =10 M1

V10 +v/2 =12 [
VI2 +y2 =14 (u1]
VI3 +y2 =16 =42 1]

the hypotenuse of the seventh right-angled triangle is 1/ 16 = 4 [A1]
EtEEAE=ATHNRERY16 =4

Case ll A&
The hypotenuse of each right-angled triangle is \/Z \/8 \/g ... [M4]
s—EEA=ATNMNEESV/4.1/6,/8, ..

The hypotenuse of the seventh right-angled triangle is1/2 X 8 =1/16 = 4 [A4]
FTEEA=ALNFEERAS
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4.

\/2(n+ 1) =8 [M4]
2(n+1)=64 [M1]
n+1=32

n=31

The 31th hypotenuse of right-angled triangle is 8. [A3]
EIEEA=ANFIERS 8

Question 4
RIRE 4

1.
Smaller than 34.3 km [M2]

/N\FR34.3 km

Couldn’t use out the capacity of battery.
Bt A EEREITEIRE [A2]

2. SupposelineL:y =ax+b
RESZL:y=ax+b

(1) Put (100,58) , (60,34) in line L. [M2]
1% (100,58) , (60,34) X A

58 =100a + b
34 =60a+b
24 6
24 =40a,a = — = — = 0.6 [M1]
40 0

|
58=100%x0.6 +b,b =—2 [M1]

so L:y=06x—-2 ®WL:y=06x-2
letx = 10<x =10 KA
y=6-2=4  [M2]

When the battery drops to 10% the distance is 4 km. [A2]
& BEEF10%EF, PT1TEE4km

(2) When the battery drops to 10% the distance is 4 km. [M2]
B EERN10%EF, 175 4km

22 —4 =18 [A4]

3. The scale is 2.5km of each square

EEFIR —18& & %2.5 km
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Diagonal is 2.5 X \/2km ¥4 52.5 x \/2km

18km
— =7.2[Mm4]
2.5km

Draw a circle with radius 7.2, the best station for her is station C. [A4]

A7 253 1EFE] > iR C HAERIE BRI Z Al SR BRI SRS
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